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QUADRILATERALS

1. The angles of quadrilateral are in the ration

3:6:8:13. Find all the angles of the

quadrilateral.
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https://dl.doubtnut.com/l/_01C6BElEGT6m

° Watch Video Solution

2. Which of the following statements are True
or False :
If the diagonals of a parallelogram are equal

then it is a rectangle.

o Watch Video Solution

3. If diagonals of a quadrilateral bisect each

other at right angles, then itis a:

| e |


https://dl.doubtnut.com/l/_01C6BElEGT6m
https://dl.doubtnut.com/l/_R872QXcN6Tql
https://dl.doubtnut.com/l/_KO4WNLzD5jFz

& Watch Video Solution I

4. Show that the diagonals of a square are

equal and bisect each other at right angles
m = -

B
A amare. AC and BD

° Watch Video Solution



https://dl.doubtnut.com/l/_KO4WNLzD5jFz
https://dl.doubtnut.com/l/_2sbxgx6ruplN

5.Show that if the diagonals of a quadrilateral
are qual and bisect each other at right angles,

then it is a square

- -1'I'I'-I-'I-I

(] 0

o Watch Video Solution



https://dl.doubtnut.com/l/_jNP50wGDf0ZY

6. Diagonal AC of a parallelogram ABCD bisects
ZA Show that

D c

(i) it bisects ZC also, (ii) ABCD is a rhombus.

o Watch Video Solution



https://dl.doubtnut.com/l/_p8lSfSyPtvQ0

7. ABCD is a rhombus. Show that the diagonal
AC bisects /A as well as ZC' and diagonal BD

bisects /B as well as /D.

o Watch Video Solution

8. ABCD is a rectangle in which diagonal AC
bisects ZAaswellas/ C. Show that ABCD is a

square.

o Watch Video Solution



https://dl.doubtnut.com/l/_pHRUcUEKshuW
https://dl.doubtnut.com/l/_4gbt0CSSicXU
https://dl.doubtnut.com/l/_1DrWA281mWnq

9. In parallelogram ABCD, two points P and Q
are taken on diagonal BD such that DP=BQ

A

"ha.l.

Show that:AQ=CP

° Watch Video Solution

10. ABCD is a parallelogram and AP and CQ are

the perpendiculars from vertices A and C on


https://dl.doubtnut.com/l/_1DrWA281mWnq
https://dl.doubtnut.com/l/_HZ9NfP2dA5dV

its diagonal BD (See fig.)

Show

that AP = CQ.

o Watch Video Solution

M. n AABC and ADFEF , AB = DE,
AB | | DE,BC=EFand BC' | | EF. Vertices

A, B and C are joined to vertices D, E and F


https://dl.doubtnut.com/l/_HZ9NfP2dA5dV
https://dl.doubtnut.com/l/_aYmtWJrJV1ly

respectively (See fig.)

Show

that quadrilateral ABED is a parallelogram.

o Watch Video Solution

12. ABCD is a trapezium in which AB | | CD
and AD=BC. Show that

(i) /A = /B


https://dl.doubtnut.com/l/_aYmtWJrJV1ly
https://dl.doubtnut.com/l/_tpSkccCsqDwq

(i) £C = 4D
(iii) AABC =~ ABAD

(iv) diagonal AC=diagonal BD

A B

o Watch Video Solution



https://dl.doubtnut.com/l/_tpSkccCsqDwq

1. ABCD is a quadrilateral in which P,Q,R and S
are mid-points of the sides AB, BC, CD and DA.
AC is a diagonal. Show that

SR | | ACand SR = éAC

(ii) PO=SR


https://dl.doubtnut.com/l/_LpenOzbDeIsw

PQRS is a parallelogram.

D R

o Watch Video Solution



https://dl.doubtnut.com/l/_LpenOzbDeIsw

2. ABCD is a rectangle and P, Q, R and S are the
mid-points of the sides AB, BC, CD and DA
respectively. Show that the quadrilateral PQRS

is a rhombus.

o Watch Video Solution

3.ABCD is a rectangle and P, Q, R and S are the
mid-points of the sides AB, BC, CD and DA
respectively. Show that the quadrilateral PQRS

is a rhombus.

| & I


https://dl.doubtnut.com/l/_GYShLT4aiPbx
https://dl.doubtnut.com/l/_PuCGvQmqICeR

| ¥ Watch Video Solution |

4, ABCD is a trapezium, in which ABJ||DC are a
diagonal and E is the mid point of AD. A is
drawn through E, parallel to AB intersect BC at

F. Show that F is the mid point of BC

° Watch Video Solution



https://dl.doubtnut.com/l/_PuCGvQmqICeR
https://dl.doubtnut.com/l/_ooQLf8ZQAHsS
https://dl.doubtnut.com/l/_3GuYUWsvuYR4

5.1n a parallelogram ABCD, E and F are the mid
points of sides AB and CD respectively show
that the line segments AF and EC trisect the

diagonal BD

. 1 F =
I'wﬂﬂ

° Watch Video Solution



https://dl.doubtnut.com/l/_3GuYUWsvuYR4

6. Show that the line segments joining the
mid-points of opposite sides of a quadrilateral

bisect each other.

o Watch Video Solution

7. ABC is a triangle right angled at C. A line
through the mid-point M of hypotenuse AB
and parallel to BC intersects AC at D. Show

that D is the mid-point of AC.

° Watch Video Solution



https://dl.doubtnut.com/l/_Sh3bnLfQYlX8
https://dl.doubtnut.com/l/_FbhIZSWu4Wra

Objective Type Questions

1. Quadrilateral with one pair of parallel sides

IS

° Watch Video Solution

2. All the angles of a quadrilateral are equal.
What special name is given to this

quadrilateral?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_FbhIZSWu4Wra
https://dl.doubtnut.com/l/_Y12Rw3rciIUh
https://dl.doubtnut.com/l/_uO1aSqTB2Iws

3. Using vectors, prove that a parallelogram

whose diagonals are equal is a rectangle.

° Watch Video Solution

4. Given the following statement :

If a quadrilateral is a parallelogram, then its
diagonals bisect each other.

Identify these as contrapositive or converse of

each other.



https://dl.doubtnut.com/l/_uO1aSqTB2Iws
https://dl.doubtnut.com/l/_VUZgB1tJuGBE
https://dl.doubtnut.com/l/_4td9TXc1r2Xt

Watch Video Solution

5. Identify the type of quadrilateral in the
following .
A quadrilateral whose diagonals bisect each

other at right -angles .

° Watch Video Solution

6. If three sides of a quadrilateral are equal, it

is a parallelogram.ls it true.

| €8 |


https://dl.doubtnut.com/l/_4td9TXc1r2Xt
https://dl.doubtnut.com/l/_n5kIr3x3amvQ
https://dl.doubtnut.com/l/_KldV9Eg34XNJ

| ¥ Watch Video Solution J

7. |dentify the type of quadrilateral in the
following .
A quadrilateral whose diagonals bisect each

other at right -angles .

° Watch Video Solution

8. A quadrilateral is a parallelogram, if its one

pair of opposite sides are equal and parallel.

o Watch Video Solution



https://dl.doubtnut.com/l/_KldV9Eg34XNJ
https://dl.doubtnut.com/l/_QPrsMLDVbzfB
https://dl.doubtnut.com/l/_ycQxVgzP9wyn

9. The line-segment joining the mid-points of
two sides of a triangle is parallel to the third

side and ............. Of it.

o Watch Video Solution

10. Prove that the figure formed by joining the
mid-points of the pairs of consecutive sides of

a quadrilateral is a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_ycQxVgzP9wyn
https://dl.doubtnut.com/l/_MncNsgfMGy7D
https://dl.doubtnut.com/l/_ydt4AJKTazK9

Objective Type Questions Fill In The Blanks

1. Sum of the angles of a quadrilateral is

° Watch Video Solution

2. A diagonal of parallelogram divides it into

four triangles of equal area.

o Watch Video Solution



https://dl.doubtnut.com/l/_ydt4AJKTazK9
https://dl.doubtnut.com/l/_o3SyQSxqOTAr
https://dl.doubtnut.com/l/_O44VNdx9dWU0

3. Diagonals of the rhombus bisect each other

o Watch Video Solution

4. If there are three parallel lines, and the
intercepts made by them on one transversal
are equal, then the intercepts on any other

transversal are also equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_O44VNdx9dWU0
https://dl.doubtnut.com/l/_wi62rtRlDZ26
https://dl.doubtnut.com/l/_EjefmDYaZYSh

5. The figure formed by joining the midpoints

of the consecutive sides of a quadrilateral is

o Watch Video Solution

6. The line drawn through the mid-points of
one side of a triangle, parallel to another side,

intersects the third side at its midpoint.

o Watch Video Solution



https://dl.doubtnut.com/l/_O0YMBAOM9AHY
https://dl.doubtnut.com/l/_O4ehrq8DBYw0
https://dl.doubtnut.com/l/_kqaKoMHTauCa

7.1n a trapezium ABCD, if E and F be the mid
points of the diagonals AC and BD respectively,

then EF=

o Watch Video Solution



https://dl.doubtnut.com/l/_kqaKoMHTauCa

8. Which of the following statements are True
or False:
The diagonals of a rectangle bisect each other

at right angles.

° Watch Video Solution

9. It two opposite angles of a parallelogram

are (3z — 2)° and (50 — z)° then the value

° Watch Video Solution



https://dl.doubtnut.com/l/_9oH1CvyWDRSg
https://dl.doubtnut.com/l/_dfSebztghwwn

10. Say True or False:

Each angle of a rectangle is a right anlge.

o Watch Video Solution



https://dl.doubtnut.com/l/_dfSebztghwwn
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